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INSTRUCTION : Please check that OMR Answer Sheet No. and Question Booklet No. match with each other. If they do not match immediately replace the Question
Booklet and OMR Answer Sheet. Candidate should fill the correct Question Booklet No. in OMR Answer Sheet.
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IMPORTANT INSTRUCTIONS FOR THE CANDIDATES (KINDLY READ THE INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER)

1. Attempt all the questions. Every question has equal marks viz. 2.

2. Before answering, kindly check that this booklet has total (1-20) pages & OMR Answer sheet consists of three copies. Within first five minutes,
candidates are advised to ensure that all pages of your test booklet & OMR/Answer Sheet are properly printed and test booklet is not damaged in
any manner. In case of any discrepancy the candidate should immediately report the matter to the invigilator for replacement of test booklet &
OMR/Answer Sheet. No claim in this regard will be entertained after five minutes of start of examination.

3. Do not forget to write your roll number on the top of this question booklet & OMR/Answer Sheet.

Do not tear or fold any page of the question booklet and OMR/Answer Sheet.

5. Candidate must bring legibly printed Admit Card with recent coloured photo pasted on it at mark B duly attested by Gazetted Officer and one
identity proof with photo like Driving License, Voter Card, Aadhar Card, Passport etc. at the Examination Centre failing which candidate will not be
allowed to enter in the Examination Centre.

6. Candidates should fill the correct name, Roll No. & Q. booklet No. on the OMR Answer Sheet. If the space for the Q. Booklet No. is left blank or
more than one Q. Booklet No. is indicated therein and non-filling of name and roll no. as per instruction, it will be deemed to be an incorrect Q.
Booklet No. & Answer Sheet will not be evaluated. The candidate himself/herself will be solely responsible for all the consequences arising out of
any error or omission in writing the Q. Booklet No. Candidate shall put his/her LTI (Male) and RTI (Female) on attendance sheet, on the
OMR/Answer Sheet and on the Biometric Machine along with signature.

7. Candidate should put his/her signature and thumb impression on the Admit Card at two places in the presence of Invigilator in the Examination Hall.

8. Candidates are warned not to fold or make any stray marks on the OMR Answer Sheet. Use of Eraser, Nail, Blade, White Fluid/Whitener etc., to
smudge, scratch or damage in any manner on the OMR Sheet during Examination is strictly prohibited. If doing so, their Answer Sheet shall be
cancelled and shall not be evaluated.

9. Candidates are warned not to carry handkerchief, any mobile phone, any type of watch, belt, wear ornaments like ring, chain, earring etc., electronic
or communication device, Pen, Pencil, Eraser, Sharpner and correcting Fluid in the examination centre. If any candidate is found possessing any
such item, he/she will not be allowed to enter in the examination centre. Candidate found possessing mobile phone and any other aiding material
as mentioned above in the examination room will be treated a serious violation and it will amount to cancellation of the candidature and debarring
him/her from future examination.

10. The written examination will be supervised by doing frisking before allowing entry into Examination Centre, using CCTV Cameras, Biometric
Attendance process by capturing the Biometric thumb impression and Photograph of the candidates during Examination, Videography and
Jammers etc. shall be used in the Examination Hall/Examination Centre to stop copying and impersonation etc.

11. Candidate's request to change the examination centre and seat in the Examination Hall shall not be entertained.

12. The scanned photograph of the candidate on his/her Admit Card or attendance sheet will be tallied with the candidate appearing in the examination
by the invigilator. In the event of any discrepancy in the identification and verification of the candidate and photographs, the candidate shall not be
allowed to sit in the examination and be liable for criminal prosecution.
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13. The OMR answer sheet consists of three copies, the original copy, the commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR sheets separately. Candidate must handover the OMR Sheet without separating the three
copies to the invigilator at the end of examination. Invigilator will hand over the candidate’s copy after separating it. The candidates are allowed to
take away this Test Booklet with them.

14. Each question has four alternative answers of which only one is correct. For each question, darken only one circle, as the correct answer on the
OMR answer sheet with only Blue/Black Ball Pen provided by the Commission. Pencil should not be used for darkening the circle.

15. No candidate shall be allowed to go to the toilet/washroom during first and last thirty minutes of the examination.

16. No candidate will be allowed to leave the OMR sheet blank. If any OMR sheet is found blank, it shall be crossed by the invigilator with his/her
signature and mentioning "Cancelled" on it.

17. Your answer sheet will be evaluated through electronic scanning process. Incomplete or incorrect entries may render your answer sheet invalid.

18. Carefully fill in all the necessary particulars on the answer sheet. Change of answer sheet is not permitted.

19. While darkening the appropriate bubble(s) in the boxes darken the chosen bubble(s) fully as given below. If you darken more than one circle, your
answer will be treated as wrong and such answer shall not be evaluated.
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20. If a candidate does not comply with the instructions as mentioned above or creates any kind of indiscipline, the Commission shall take action as per
instructions and in addition can also debar the candidate from appearing in the Examination, to be held in future and can also file criminal
proceedings.
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The part of the building above ground level and
the floor immediately above the ground is
called

(A) Sill Level

(C) Lintel Level

(B) Plinth Level

(D) Floor Level
Question|d: 1

Which of the following acts as vehicles for the
paint?
(A) Linseed Oil

(C) Turpentine

(B) Naphtha
(D) Lead Sulphate

QuestionId : 2

Water absorption of a good brick should not be

more than % when kept immersed in
water for 24 hours.

(A) 22 (B) 20

(€) 25 (D) 18

QuestionId:3

The water is to be removed before the timber
can be used for any engineering purpose is
known as

(A) Preservation (B) Defects

(C) Seasoning (D) Soaking

Question Id : 4

Which type of foundation is pile foundation?
(A) Shallow Foundation (B) Deep Foundation

(C) Narrow Foundation (D) Wide Foundation

Question Id : 5

The special treatment provided to plastered
walls at their lower level, usually in bathrooms
and W.Cs, is called

(A) skirting (B) dado

(C) plastering (D) blistering

QuestionId : 6

The type of flow in which the fluid particles
move along well-defined paths or stream line &
all the stream-lines are straight and parallel is
known as

(A) steady flow (B) uniform flow

(€) laminar flow (D) compressible flow

QuestionId : 7

9o B 98 9N S &R 9 FW B TA %
e & Sl SR P! B B, hEdAl ©
(A) 7T W) (B) ficir W

€ fored R (D) TR WX

Question Id : 1
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Question Id : 2
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(A) 22 (B) 20

(€ 25 (D) 18
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(C) et (D) Fifeh

qrsol Hid g g @) g 2t 2 2 |
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(€) Fodl g (D) =T i

QuestionId: 5
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(A) T (B) ST
(€ wreR (D) feoreefRiT

Question Id : 6
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Ffl gRT Y@Ev Wt 9 FEER | g,
BEAT &

(A) eraRacl ware

(€) T yarg

(B) THEHTT YdTE
(D) Wdted ydrg

QuestionId : 7

Page: 2


TEST
Highlight

TEST
Highlight

TEST
Highlight

TEST
Highlight

TEST
Highlight

TEST
Highlight

TEST
Highlight

TEST
Highlight

TEST
Highlight

TEST
Highlight

TEST
Highlight

TEST
Highlight

TEST
Highlight

TEST
Highlight


10.

1.

12.

13.

Which is the simplest form of manometer used
for measuring gauge pressures?
(A) U-tube Manometer (B) Simple Manometer

(C) Differential Manometer

(D) Piezometer
QuestionId: 8

Reynolds number is the ratio of
(A) viscous force and inertia force

(B) inertia force and viscous force
(C) elastic force and viscous force

(D) gravity force and pressure force

Questionld: 9
A beam whose one end is fixed and the other
end free is known as
(A) Simply supported beam

(B) Fixed beam

(C) Cantilever beam (D) Overhanging beam

Question|d: 10
The maximum allowable limit that a
measurement may vary from the true value or
from a value previously adopted as correct is
called

(A) Accuracy (B) Precision

(C) Permissible error (D) Discrepancy

QuestionId : 11

The length of Gunter’s chain is
(A) 60 ft. (B) 64 ft.
(€) 62 ft. (D) 66 ft.

QuestionId : 12
If the length of a column is less than 8 times its
least lateral dimension, then the column is said
tobea

(A) long column (B) short column

(C) medium column (D) All of these

Questionld: 13

10.

1.

12.

13.
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(A) g-Aferr Frier (B) Rel dHMIex

(€ 9t §9ier (D) fioHiex

QuestionId : 8
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QuestionId: 9
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Questionld: 10
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(A) 60 WiT (B) 64 Wwic
(€ 62 WiT (D) 66 WiT

QuestionId : 12
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Questionld: 13
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14.

15.

16.

17.

18.

19.

Which instrument is a combination of an
electronic theodolite and an electronic distance
meter?

(A) Total Station

(C) Theodolite

(B) Tacheometry
(D) GPS

QuestionId : 14
The amount by which the outer end of the road
or outer rail is raised above the inner one is
known as
(A) transition curve

(C) deflection

(B) super-elevation

(D) inclined curve
QuestionId: 15

The clear distance between the inner faces of
narrow gauge is
(A) 1.000 m

() 0.700 m

(B) 0.765 m
(D) 1.676 m

QuestionId : 16

Points and crossing is the special arrangement
provided on railway track to facilitate trains
(A) to stop on the track

(B) to be diverted from one track to another
(€) to slow down the speed of the train
(D) All of these

QuestionId : 17

Which book is to be used for the detailed
measurement of a building are correctly
recorded on its completion so as to facilitate the
preparation of estimates for periodical repairs
and their execution?

(A) Ordinary Measurement Book

(B) Record Book
(C) Standard Measurement Book

(D) None of these

Question|d: 18
Which device is used for measuring the rate of
flow of a fluid flowing through a pipe?
(A) Manometers (B) Pitot- tube
(D) All of these

Questionld : 19

(C) Venturimeter

14.

15.

16.

17.

18.

19.

B AT SUBRY Foldei-ih FRITsIse 3R
Selag e g8 ATl & FAST T 2
(A) Trcd IH (B) Cfpariic

(€ forarsTese (D) GPS

Question Id : 14
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(A) ifSTer T (B) o= uferaer

(€ fyay (D) 3= d%

(A) 1.000 m
(€ 0.700 m

(B) 0.765 m
(D) 1.676 m

QuestionId : 16
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QuestionId : 17
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QuestionId : 18
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(A) F9Rfrey

(€) I=gRHIeR

(B) ficre =g«
(D) & |t

QuestionId : 19
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20.

21.

22.

23.

24,

25.

26.

The value at the end of the utility period
without being dismantled is called as

(A) scrap value (B) salvage value

(€) book value (D) replacement value
Question Id : 20

Lime is

(A) siliceous material
(B) argillaceous material

(€) calcareous material (D) None of these
Question Id : 21

Which factor does not affect the workability of

concrete?

(A) Water content (B) Temperature

(€) Mixing time (D) None of these

Question Id : 22

CPM stands for
(A) Construction Project Management

(B) Critical Path Method
(C) Construction Path Method
(D) Critical Project Management

Question Id : 23
The worker is paid for the amount of work done
by him rather than time consumed in doing it is
called
(A) Time wage system (B) Piece wage system
(€) Nominal wage (D) Real wage

Question Id : 24

Elevators and conveyors are
(A) Hauling equipments

(B) Hoisting equipments
(C) Earthmoving equipments

(D) Excavating equipments
Question Id : 25

Swang artist who is also known as the
Shakespeare or Kalidasa of Haryana is
(A) Rao Tula Ram (B) Pt. Nemi Chand

(€) Pt. Deep Chand (D) Pt. Govind Ram

Question Id : 26

20.

21.

22.

23.

24.

25.

26.
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(A) vo Rafeem™a uared
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(€) PopRTT ygrd (D) 39 F PIs Tl

Question Id : 21
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(A) STerier (B) drgHTy

(©) fysror Ty (D) g7H | BIg &l

Question Id : 22

A" BT M
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Question Id : 23
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Question Id : 24
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Question Id : 25
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Question Id : 26
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27.

28.

29.

30.

31.

32.

33.

34.

Bhindawas Wild Life Sanctuary is situated in
which district of Haryana ?
(A) Kurukshetra (B) Jhajjar

(C) Sirsa (D) Panchkula

Question Id : 27
Crocodile Breeding Centre is situated in which
district of Haryana ?
(A) Kurukshetra

(C) Sirsa

(B) Jhajjar
(D) Panchkula

Question Id : 28

Gurudwara Kripal-Mochan is situated in which
district of Haryana ?
(A) Kaithal

(€) Jind

(B) Yamunanagar
(D) Rohtak

Question Id : 29

Which of the following Legislative Assembly is
working in Haryana ?

(A) 11th (B) 17t
() 13th (D) 14th

Question Id : 30
In which year first Census conducted in
Haryana?
(A) 1961 (B) 1971
(€) 1981 (D) 1951

Question Id : 31
In which year HUDA is established in Haryana ?
(A) 1965 (B) 1971
(€) 1980 (D) 1977

Question Id : 32
How many districts are there in Haryana ?

(A) 20
(€ 22

(B) 21
(D) 23

Question Id : 33
What is the average height of Karoh, the highest
peak of Haryana ?
(A) 2010 metre

(C) 1467 metre

(B) 1830 metre
(D) 1340 metre

Question Id : 34

27.

28.

29.

30.

31.

32.

33.

34.

e gg-Siig Ry gRImon & fhy
IS
(A) Hoars
(€ R4

Question Id : 27

TRATE U999 bhg sRamon & feg R § ®
,,

(A) pogr
© g

Question Id : 28

ORI HUTA-AIFT BRI & by el # 2
5

(A) borer
(€ e

Question Id : 29

gRaoT § fEfaRad § @ dF A faumEa
BT BRIBIT I 8T © ?
(A) 11€ﬁ (B)

13l

127t

(€) (D) 14'Cﬁ

Question Id : 30

BRATOT # ygH SEOMET o 99 gg 2
(A) 1961 (B) 1971

(€) 1981 (D) 1951

Question Id : 31

gRaon # f5d 99 gST (HUDA) & wImueT
P 2

(A) 1965
(©) 1980

(B) 1971
(D) 1977

R § feaa el € 2
(A) 20 (B) 21
(€ 22 (D) 23

Question Id : 33
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eI
(A) 2010 Hrex (B) 1830 #Hiex
(C) 1467 Hrex (D) 1340 #ex

Question Id : 34
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35.

36.

37.

38.

39.

40.

41.

42.

In Haryana, on 8 May, 1976 first Aakashwani
Centre started in
(A) Rohtak

(C) Panchkula

(B) Faridabad
(D) Ambala

Question Id : 35
Official language of Haryana is
(A) English (B) Haryanvi
() Hindi (D) Urdu

Question Id : 36

Most populated district of Haryana is
(A) Ambala (B) Sirsa

(C) Hisar (D) Faridabad

Question Id : 37

Who won the Third Battle of Panipat ?
(A) Babur (B) Akbar

(C) Marathas (D) Ahmad Shah Abdali

Question Id : 38

During 1756-57 Haryana was under the control
of which ruler?
(A) Mughals

(C) Lodis

(B) Marathas
(D) Rajputs

Question Id : 39

During the reign of Mughal Emperor Akbar who
was the ruler of Rewari ?
(A) Hemchand (B) Ibrahim Lodi

(C) Harshvardhan (D) Ahmad Shah

Question Id : 40

Boundary of Haryana touches how many states?
(A) 4 (B) 5

() 6 (D) 7

Question Id : 41

Central Institute for Research on Buffalo (CIRB)
is situated in
(A) Jhajjar

(C) Hisar

(B) Sirsa
(D) Ambala

Question Id : 42

35

36.

37.

38.

39.

40.

41.

42.
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(€) dagpenm # (D) 3fqTem H

S e 2 |
(A) 3o (B) ERgTordt

(€ & (D) <

Question Id : 36
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(A)  3igTeT
(€ R

(B) fg=<r
(D) wIIgTETE

Question Id : 37

gHOd @ I dsis feas St 2
(A) gTex (B) arpex

(C) wRral (D) 3IEHSIME IFqToll

Question Id : 38

99 1756-57 & SRME sRIOT fH9 I &
fd=or 9 o7 2

(A) wrci
(€ ot

Question Id : 39

Tl ANH IHa & AMH & SR Xars!
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(B) soTfe® oIc

(A) gd
(€) gfaefq (D) 3rEHgE 98

gﬁawa%@mﬁo—cﬁmﬁwﬁaﬂ?ﬁ
?

(A) 4
€ 6

(B) 5
(D) 7

Question Id : 41

o A STgHY™ W Red ©
(A) FooR (B) ==
€ fear (D) 3iqgTet

Question Id : 42
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43.

44,

45.

46.

47.

48.

Haryana government is
Salamati”. It is related with
(A) Food production  (B) Girl Education

() Child Labour (D) Family Planning

running “Project

Question Id : 43
On 19 July, 2016 who appointed as Lokayukt of
Haryana ?
(A) N.K. Agrawal

(C) Preetam Pal

(B) Tripurari Sharan
(D) None of these

Question Id : 44

Gurmeet Ram Rahim, Sacha Sauda Dera Chief
got rigorous imprisonment in the Dera Sadhuvi
Rape Case. Which of the following CBI Court
Judge pronounced this sentence ?

(A) Justice Amardeep Singh

(B) Justice Preetam Pal
(C) Justice V.K. Agrawal
(D) Justice Jagdeep Singh

Question Id : 45
Master-architect of the Chandigarh city was
(A) Le Corbusier (B) J.L. Nehru
(C) J.C. Sharma (D) Mohinder Lamba

Question Id : 46

With reference to Ministers of Haryana
Government which of the following pair is
correct ?

(A) Ram Bilas Sharma - Agriculture

(B) Capt. Abhimanyu- Revenue & Disaster
Management

(€) Om Prakash Dhankar - Planning
(D) Narbir Singh - Science & Technology

Question Id : 47

Which of the following pair is incorrect ?
(A) Manoj Kumar - Boxing

(B) Anup Kumar - Kabaddi
(€) Sandeep Singh - Hockey
(D) Suman Kundu - Cricket

Question Id : 48

43.

44.

45.

46.

47.

48.

ERAT WRAR ERT “WIode TeAHdl” el
ST el g | I8 defid §

(A) wreEr Idred (B) =1 et

(C) 91T 2 (D) gRar =

Question Id : 43

19 SCTS, 2016 BT HIF SRATIM & ATBIIAd

I g9 2
(A) T, ImaTd (B) FIRIY IRTT
(© Hqg gt (D) T8 & PIs eI

Question Id : 44
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ol et | I8 9o ALdtenE. IR &
g =manefter 5 9Ia &t 2

(A) =graefier sPReT Riw
(B) =ramefier WaH ured
Q) =rarefier &, emare
(D) =graefter SRy g

Question Id : 45

TSHTE B BT YU 3Mfbcae BIF AT ?
(A) =, HERER (B) SIUa. E®

(€ 9.}, vt (D) Afdex offaT

sfome T AT b dwe 4 e E
| HIF A I FE § ?

(A) 9 foemd o™l - oY

(B) e A=Y - o Td JMIQT Tee
(C) 3 YT FFHR - Ao

(D) IR R - g™ wd drenfmt

Question Id : 47

o1 & 9 &9 |1 I Ted ® 2
(A) HHIST HHR - HFhaToN

(B) 31y PUR - HaSSI
(€ << R - ot
(D) g9 Fg - fohde

Question Id : 48
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49.

50.

51.

52.

53.

54.

55.

56.

Gujri Mahal is situated in the district
(A) Hisar (B) Karnal

(€) Gurugram (D) Fatehabad

Question Id : 49

In 47th century Mahendragarh Fort was built

by
(A) Akbar (B) Babar
(C) Tantia Tope (D) Hemu

Question Id : 50

Who is recently appointed as the new director
of UNESCO?
(A) Summy Vargshee (B) Audrey Azoulay

(C) C. C. Raman (D) A. Markel

Question Id : 51

Which of the following site is associated with
Ashoka Pillar?
(A) Sanchi (B) Modhera

(€) Khajuraho (D) Konark

Question Id : 52

Which of the following countries launched first
cyber court?
(A) China (B) Japan

(€) North Korea (D) Spain

Question Id : 53

Who won the 2017 Nobel Prize of Literature?
(A) Richard Thaler (B) Kazuo Ishiguro

(€) Ganga Prasad (D) Audrey Azoulay

Question Id : 54

Who was the first Muslim President of Indian
National Congress ?
(A) Mohammad Ali Jinnah

(B) Abul Kalam Azad
(€) Badruddin Taiyabji (D) H.A. Khan

Question Id : 55
Which was the largest Indian Site of Indus
Civilization?
(A) Mohen-jo-daro (B) Dholawira
(€) Khajuraho (D) Lothal

Question Id : 56

49.

50.

51.

52.

53.

54.

55.

56.

ot 7Ed fopd vt § fRerg ® 2

(A) faR (B) AT

(€ I (D) wdEETE

TAEdl oAl | "egie fhol &1 T fHa
o

(A) 3rpdr (B) 9rav

(€ arei 2@ (0) 2

Question Id : 50

A B H P el & Ay FRed & WU
# e fear w2
(A) T geeh (B) g 3roired

(€ < =+ (D) U Hrho

Question Id : 51

frfalRed & 9 o9 91 Wd F@d &I &

AT [T 83 & 2

(A) it (B) HIe=T

(€) EoRTRl (D) proTdh
frafaReq & @ fow <o 7 gzl W‘%
JETAd Yo DI 2

(A) T+ (B) SruTH

(€ IR PRk (D) &

gowao‘r@rﬁ%wﬁ:hwwﬁiﬁmaﬁﬁ
?

(A) REE IR (B) eprogeit SeRT

(C) I gaTS (D) 3Ng aroiiel
ARAI IS O & U8 gRed 318?#&1
CIRi

(A) ArgFg 3felt ot

(B) 319l dholM IATIIS
(€ ggogd duEsit (D) wa. U @

Question Id : 55

Rig avdr &1 999 g9 R4 WA DI
A1 ooar 2
(A) AgT-Sigs] (B) efreATdiRT

(€) goRTE! (D) hrered

Question Id : 56
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57.

58.

59.

60.

61.

62.

63.

1 Nanometer = ?
(A) 10 meter (B) 10 ®meter
() 10 " meter (D) 10 P meter

Question Id : 57

X-ray was discovered by
(A) W. C. Roentgen

(C) Galileo Galilei

(B) Thomas Alva Edison
(D) Albert Einstein

Question Id : 58

When did Constituent Assembly adopt a
national flag?

(A) 26 January, 1948
(€

(B) 15 August, 1947

(D) 22 july, 1947

Question Id : 59

26 January, 1950

Complete the series :
SCD, TEF, UGH, , WKL

(A) CMN (B) UJI

(€) vIJ (D) UT

Complete the series :
ZA5,Y4B,XC6,W3D,

(A) Ev B \V,E

(€) VE; (D) VE,

QuestionId : 61

Find the value of x in the following series :
X, 44, 176,704, x = ?
(A) 11

(€) 22

(B) 12
(D) 33

Question Id : 62
A person moved towards South, then he took
left and then again right and finally turned to
right. In which direction did he face at the end?
(A) North (B) East

(C) West (D) South

Question Id : 63

57.

58.

59.

60.

61.

62.

63.

1 T HER = ?

(A) 10 > meter (B) 10 °meter

() 10" meter (D) 10 P meter
Question Id : 57

X-fpRor & engd 9

(A) Seeg ¥l. VU<
(B) o 3Tedl TS+

(©) Hfaferar Aferel (D) aread sMg=AcISH
G AW 7 B9 AT eqe] IR 2
T STHasT, 1948
B 45 arre, 1947
@ 5 STHasT, 1950
O 20 e, 1947
el ol BT -
SCD, TEF, UGH, __ , WKL
(A) CMN (B) UII
© viJ (0 13T
. o oy
ZA.,Y,B,XC., WD,
(A) E,V (B) VZE
@  VE (@) VE,

Question Id : 61

FrfeRad gf@en 9 x &1 A S BT
X, 44, 176, 704, X = ?
(A) 11

(€ 22

(B) 12
(D) 33

Question Id : 62

Udh Aafdd Sfeor @ 3R Sar § iy and
qedl ¢ IR 91 # 98 I gsa1 ¥ 3R 3fa
H a8 I qgd1 € | fd § SRl T B
e Hoar 2

(8) qd

(A) IR
(€ ufy (D) cfeyor

Question Id : 63
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64.

65.

66.

67.

68.

69.

70.

Complete the pair :
UNDER: ACXMJ:: REBEL: ?
(A) IMQMZ (B) JRJQL

(C) MPJBI (D) MZWR

Question Id : 64

Complete the pair :
VIOLENT: OVINETL :: REVOLVE :
?

(B) VRLOVEE
(D) ROVTBER

(A) VREVLEO
(C) REVKRVE

Question Id : 65

| am the only boy child of my parents. If the
person in photograph is the only daughter of my
father. What would she call me?

(A) Brother (B) Sister

(C) Aunty (D) None of these

Question Id : 66
If TRIANGLE = 96485321, LINEGART =7
(A) 24513869 (B) 28613459

(C) 24583169 (D) 25143869

Question Id : 67
If HCF (26, 169) = 13, then LCM (26, 169) =
(A) 26 (B) 52

(C) 338 (D) 13

Question Id : 68

If the sum of the squares of two consecutive
natural numbers is 313, then the numbers are
(A) 12,13 (B) 13,14
(€) 14, 15 (D) 11,12

Question Id : 69

If the length of a rectangle exceeds its width by
8 cm and the area of the rectangle is 240 sq.
cm., then the breadth of the rectangle is

(A) 20 cm (B) 18 cm

(C) 15cm (D) 12 cm

Questionld : 70

64

65.

66.

67.

68.

69.

70.

I g BT
UNDER: ACXMJ:: REBEL: ?

(A) JMQMZ (B) JRIQL

(© MPIBI (P) MZWR

g T FIfT

VIOLENT: OVINETL :: REVOLVE :
?

(B) VRLOVEE
(D) ROVTBER

(A) VREVLEO
(€ REVKRVE

§ W AT $1 Tedn g3 g | 3 o
H gl 75 dsal WA @ uwadl gl
g, a1 98 g R HeW 2

(A) ur$ (B) g&

(©) =reh (D) T & PIg Tl

Question Id : 66

Ife TRIANGLE = 96485321, LINEGART = 2
(A) 24513869 (B) 28613459

(€) 24583169 (D) 25143869

Question Id : 67

Ifd HCF (26, 169) = 13, 9 LCM (26, 169)

(A) 26
(€) 338

(B) 52
(D) 13

Question Id : 68

afe &1 e wrpfad dw=arel & ail B
AT 313 &, 99 98 TN §
(A) 12, 13 (B) 13, 14

(C) 14, 15 (D) 11, 12

Question Id : 69

IJfe T I H a5 SAB! dISs A 8
[, SET © 3R MU BT &FHA 240 I
). 2, 99 A B deS ©

(A) 20 AT (B) 18 & .4,

© 15 q# (D) 12 .4

Questionld: 70
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71.

72.

73.

74.

75.

17 cards numbered 1, 2, 3,....., 17 are put in a
box and mixed thoroughly. One card is drawn at
random from the box, then the probability that
the number on the card is a prime number is

(A) g (B) ¢
17 17
< 7 D) g
17 17

Question Id : 71

One card is drawn from a deck of well shuffled
52 cards, each of 52 cards being equally likely to
be drawn. The probability of getting a face card
is

(A) 3 (B) g4
13 13

() (D) None of these
13

QuestionId : 72

The area of a circle whose circumference is 22
cmiis

(A) (B)

30.5cm? 38.5cm?

(€) (D)

40.5cm? 42.5cm?

QuestionId : 73

If the circumference and the area of a circle are
numerically equal, then diameter of the circle is

(A) (B) 2 munits
—units
2

(C) 2 units (D) 4 units

Question Id : 74
If three cubes each of side 5 cm are joined end
to end to form a cuboid, then the volume of the
resulting cuboid is

(A 365cm’ (B)

370cm’

(€) (D)

375cm’ 380cm’

QuestionId : 75

71.

72.

73.

74.

75.

17 BT 1, 2, 3, 4,...., 17 OB Uh 964 H 9
ox e 8 o1 € | 99 9§ argesdl @
Bl BTl ST 8, dI dle IR &I I
ifgursy e 89 @ uTi¥iedar ©
(A) 5 (B) 6

17 17
(©) ® g

17 17

QuestionId : 71

eﬂ%&ﬁ TE %S T 52 PBle HI SH I ThH
BTe fohTel STl %\’ | 52 BT H 9 UAd
CaS ﬁ‘cﬁﬁ P URear gEE ', a1
qTell BT fhe™ B UTRIedT 8

A) 3 (B) 4
13 13

() 6 (D) 379 & PIs &
13

QuestionId : 72

22 A gRFY arel g F A% §
A 30.5¢cm? B 385cm?

(€) (D)

40.5cm? 42.5cm?

QuestionId : 73

H&:Eﬁ B &Fhd IR AR F=arHs WY

H FAM § 99 g BT At 8RN
(A) my2 s—cm-g (B) 2ngahrs
(@ 2 g®rg (D) 4 SIS

Question Id : 74

Jdd 5 AL Yo & o 89 @ RN 9
1 TR Te gAY 99 Siar ®
IRy g9 BT AT BT

(A 365cm? B 370cm’

(€) (D)

375cm’ 380cm’

QuestionId : 75
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76.

77.

78.

79.

80.

81.

82.

We are able to see through a transparent

medium as light is through it.
(A) transmitted (B) reflected
(C) obstructed (D) heated

Question Id : 76

The human eye uses light to see objects as it

has in its structure.
(A) mirror (B) lens
(C) prism (D) slab

Question Id : 77
If the flows through a conductor, then
that there is an electric current in the
conductor.
(A) electric charge (B) neutrons
() neurons (D) positrons

Question Id : 78
Elements can be classified as on the

basis of their properties.

(A) metals or stones (B) atoms or molecules

(C) metals or non-metals

(D) acids or salts
QuestionId : 79

Acids are sour in taste and change the colour of
litmus to
(A) red, blue

(€) red, yellow

(B) blue, red

(D) green, red

Question Id : 80
Whenever a chemical change occurs, we can say
that a has taken place.
(A) Chemical reaction (B) Physical reaction
(D) Light reaction

Question Id : 81

(C) Magnetic reaction

Reproducing organisms create new individuals
that look very much themselves.

(A) dissimilar to (B) like
(€) alien to (D) gigantic to

Question Id : 82

76

77.

78.

79.

80.

81.

82.

BH URCYG HIEFH P ARUR 99 Whd ©

Ifh ThTI IqA BT ® |
(A) TifRg (B) wRrafta
(C) areRIfed (D) ¥

QuestionId : 76

A9 3 a%g3 Bl oW B AU gdrer @

ST &Rd & Hifdh IIdI GRI
BT © |

(A) <edur (B) <ig

© forsy (D) w9

Ife et @ g8l & 99 diddd ﬁ

foga a1 Bt © |

(A) foe amasn (B) =g

(O =R (D) T

Question|d : 78

d<dl B BIb 0N P IMUR W
w9 # Ffipd fear o1 Gdar g |

(A) ergalt a1 werR (B) 3] AT WRA]
(©) g1 a1 ey (D) 31+t AT <Iqur

Question Id : 79

I WIE W Wee B § OeIR

foreag a7 ¥ BRI B © |
(A) &1, e (B) =TT, et
(C) e, grem (D) =1, et

Question Id : 80

59 YEafe 9Radd BT § 99 89
g U ®E 9ad © |
(A) Tt Jrfafhar

(B) Hifcrep arf¥fehan

(€) =gt Afdfhar (D) weprer AfHihaT
GG Siid AT qoild I~ PR ©, Sl
foe & S9% 9ga BT © |

(A) 3reHr (B) FHTT

(€ =g (D) fomre

Question Id : 82
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83. Movement of an organism, in response to the |83. TJTERUT Bl fhAT H SiG & Ul ©
environment, is . (A) orfefag (B) {frafya
(A) uncontrolled (B) carefully controlled (€ argag
(€) not possible (D) only found in plants (D) ¥t et § Urr T R
Question Id : 83 Question Id : 83
84. Different materials are cycled in the|84 fIfd= ugTel TIfaROT § guw <l H
environment in separate cycles. gfehd B © |
(A) Chemical (B) Geological (A) arafe (B) ﬂiﬁﬂﬁ‘cﬁ
(€) Biological (D) Biogeochemical (€ e (D) Sg-Y-TATITh
Question Id : 84 Question Id : 84
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85.

86.

87.

88.

89.

90.

ENGLISH LANGUAGE

Supply suitable article in the following blank if
needed :
Rajdhani Express is very fast train.

(B) An

(D) No article

(A) A
(C) The

Question Id : 85

Supply suitable preposition in the following
blank :

The deer was killed by the hunter a
sword.

(A) with (B) by

(€) in (D) to

Question Id : 86

Give one word substitute for the following

expression :

is a killing of one’s brother or sister.
(B) Genocide

(D) Matricide

(A) Filicide
(C) Foeticide

Question Id : 87

Give one word substitute for the following
expression :

is a group of cattle or sheep or other
domestic animals.
(A) Hamlet

(C) Herd

(B) Torrent
(D) Horde

Question Id : 88

Select the word from the following that is most
similar in meaning to the word in capital letters :
FRENZY

(A) Struggle
(C) Riot

(B) Parade
(D) Celebration

Question Id : 89

Select the word from the following that is most
similar in meaning to the word in capital letters :
CORPULENT
(A) Lean

(C) Emaciated

(B) Gaunt
(D) Obese

Question Id : 90

91.

92.

Select the word from the following that is
opposite in meaning to the word in capital
letters :

AMBIGUOUS
(A) Clear (B) Vague
(C) Obnoxious (D) Sinister

Question Id : 91
Select the word from the following that is
opposite in meaning to the word in capital
letters :
FOREMOST
(A) Hindmost

(C) Disposed

(B) Unimportant
(D) Mature

Question Id : 92
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93

94.

95.

96.

97.

98.

99.

10

&=t W

= d e e 1 ot g R Bl ® 2
(A) o (B) g
(© yw (0) T

Question Id : 93

Uil v o1 gl v @
(A) fIYrast, <or (B) dgem, dfed

(C) wrf, yrorfdrn (D) T, ol

Question Id : 94

M veg &1 o vs ©
(A) g (B) favyre
(€ forra (D) arermTfay

Question Id : 95

IR f& o Al qETaR &7 A8 o
(A) 3 | AR feafeHr

(B) ors faq &1 g

Q) eqen & fow qu

(D) {qxg B! 3 H d1

Question Id : 96

(A) g + 3a9 (B) g + g9
© 9 + 39 (D) 47 + 39
(A) 3rd + 37 (B) 3rfer + 3
(€ 3y + 3T (D) 3rfr + 37d

Question Id : 98

JFTATAr o AT BT ISR & 2
(A) gg 99 (B) 3rariivrg FH™

(©) qgdife aard (D) Ef7] A

Question Id : 99

0. FIATH BT ATHINID foUg ©
(A) g5 & FHF T (B) ¥9 HT M
€ g9 & fow zam (D) g9 3R wuH

Question Id : 100
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FH UA-UF I T A ¥ g F9AT gt # qg
It F o R{aw Ader

10.
11.
12.
13.
14.
15.
16.
17.

18.
19.

20. If S e i AT 1wl FE FAT § AT HATHA A FaT § o I e 36F g wEad &, iR s

JAh A B g7 B IR TAF U & fow R 3w o araia 2 §
3ok &l & Ugel FUAT S o & gieasr & Fef (1-20) g5 HR T OMR 3R TFeh ofiel &IM9&t arel § | 38018t 1 Folrg &1 Sreir &
ﬁsqﬁﬁaﬁma?mgﬁ%awﬁ%mmaﬁ?OMRquasmﬁtp%aﬁﬁrmmgc%amsﬁﬁwﬁaﬁwﬁ
gifel 7€l Tgh & | e ot R B T e S W ewdt A aRdiets @ ¢Fe gdelc AR OMR 3ecX T seerdl ol dfgw | orem
IR 8l & Ura fAde geard 0l Riemdar ) R [6 fRar s |

58 giEde 3R OMR 3cak T9eh H FWR 30 Aol AFR for@er o ofel |

wReA-gfEaH AR OMR 3ok 3k & ey off gos & & aF 1S 3R & |3 |
mwﬁa?a#m%ﬁwqﬁw—wm%,mwmaﬁmmwmmmwﬁwmmaﬁBﬁ'@TgﬁT%|sﬂ
e @ R AR IO garT gATod @1 afee | gaeh IfAReFd Bl o9m g3 v aReF-99, o9 % gsfaer osaed, Adardr
ARE-TF, HUR HTS, TEANE MG F F FS U Ghefl-dheg W A& Ffard § 1 506 7 @ W 357 ot qfem-deg F gawr & At
A& & Smualr |

3157 OMR 3cci-uaeh # o, Ul &, IR Feohole . TE X | IfE gohele #. & AT GIm 1 TU= @relr olsr Sifdr § a1 v & 3w
gheie . fo@ o 1w § a1 AEAER A1 3R Aer 7o) g X ¢ § o 38 ol aleh F ¥R IRAT Fehole . HlAT ST 3R Seca-95h
& FHodihel el fhdT ST | gehole . foms & el off ghR &7 qfC a1 T gef W 31t T & aRUTAT AT T & fIT SeoRer
B | qew-31adl 3uer a1¢ g1 & 39S 1 IR ARET-31wd v ¢ By & IS W kel IURPUfA-TEE W, OMR 3aR gah W AR
sAeE AT 7 &I 3R 3T FUT W gEAER 4 HET |

TIeT-glel H URENETR $HT 3UREYUTT # HEIRIA BT JARI-UT W & TAET A gEAER A § A IS & AT o

arsgfdgt Y Jarga & STt § F § OMR 3cay-ma% & fFlt ot YR &1 AaAmaRgs @Aaer 7 aa¢ v 7 @ 3@ AF | OMR 3caR T &
7o off fEs 3k e & maq ¥ Bew & RAT @, argy, J3, F%he R @Y / PR A F wAeT a1 Rl e vER @ 3@ afa
ggare wEd fody ¥ | ARt aRa ¥ @ seR e faved X R smeam iR 3w Hedida @ fear s |
H}wﬁa’faﬁfﬁmﬁr@rﬁ%%aw Aesd B, fFdr off yhR A g9, doe, Sddciiae IT TUR e 49, O, afegd, %R, e
3R forar g3 Brem & fov aXe ward wam-dg & @ & o’ IR T & W, ¥, FA A ggAd B g A1 B o gER FImELyOr
UgeT| ST aEQIT & @y FRAT off et o odet-gier # A g oA Srwen | udiet-heT & 3eY fohdlr e & o Ife Alerse B 4r
Wl & FIS g ST Seor@ W fRAT I §, 9l S § Al 58 FEAr # 9R Sedue A Seen 3R ol # sEehr i BRed
FT & e gur wfasy F off F= arelr gdiemstt F 3ulEua @ W o ufdeew oew fear Swen |

fofea odtem & fdaror # qfem-deg 7 gaw § 9w ol F faRed, CCTV &amr, e I3 ¥ WS & Mere oy 3ufeafa #i@e,
wIeT dieer, AfSARmhr AT SR # g g enfae § Jife Jae & T o @ 3R U e & T WIS g WET o & 6 |
qeT-heg & IRada 1 Wem-gia F e & aRada & Gey F R o g i g w R FE R smeen |

qRENETH GaRT GAR-GT AT IURUMT weh 7 3wl & hef he g Bl o HereT awdt @ fhar s | wdt 3R 36 wler & Fea
IR gga & A o vepR AT e aiv S w3l odenm A e #v At @6 & see 3R gg ot i @ oare
el

36 OMR JccR-uaeh &1 el il €, e 9fd, 3maer gfd va sregedf ufd | 8§ el 3ro@r & &Y | OMR 3o uash v el it
TNl Y 3TeIIT-3761T BTl o HY | 339 gfieT TATCT gl W 3NTHIR. 3ca-Uas il gfaal &t 3reer 7Y f9ar wer oRvets s g &9
33t ofy a7 AR qaRT JEET FNE 3o & & SReN | el e W gw odieT gRedae B o o w9 ¢

IAF Y2 & IR dhieds e} 6T 0 § [T ¥ el T TEr & | TP NRA & 3k & v OMR 3ccR 3% H hael 39 Tk el Hr
9T F X & & T 3T A8 3cck TASIT § | I§ YT 3TANT GaRT 3YlsY HT T hael aATel IT FHlel Sic-Ue T FAT & | el A
F fov ufcaer &1 T=NeT AG R § |

et & guH AR e e Mee & e Rl ofr srerelt &t st (efaeierateresr) # S i sregAfar @€ & Smee |

el ot 3t &1 OMR 3ccR U WIell DS &1 AT 78 & | IS A OMR 3eck Ioeh el 9IS 918 o IRAETH 38 W "$hid" Hlel
& 9A IIAT GEATER X & AR 38 W "foed” forw & |

3OS Scck-T9 & ST FoFelieleh Thieidl TATUT & HT ST | IR AT el e W AT 3cak-99% AT & ol © |

AT IS fIaR0T HaUlelyash Scar-09d # HT § | 3cal-I9d & Jged H AT 61 § |

dieFd & TEr Mo/l H Td TAT A QU &7 & T& Mem/aet & F[ | Iy 37 v F 31f0F Mal FHF Frer ad & aF 3IF 3k at
eI ATAT ST 3N O 3cc T Hedihel oTg gam |

CORRECT METHOD / 71 e WRONG METHODS / 7T it

0] {G[C) PFOO PEOO OG0 GO

faRed 39 9oy & o = arelr et & oY aRT Far ST Tar § | 385 A% 3RS FR-ERr &1 &9 off gof fFar ST d&ar & |

83
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